[Ts)

____________________
0
—

_ 111l
<N O W
o O © o
o n_v [

-3
- 0.2><10

i =
o o
<@NoIQ > !

0.95

193

beamliné

2

¥ (Pcad

1

107

~

_____ _____
TN O W -
o © S
o n_v [

[Te)
—

-3
0.2><10

n

b

o
T

o
(pe)) <bh Q >

—

2 3
TPlpoT (PCA t%obeamlinélf)

1

10

________________
COOOO
m 0 ©O© <

(wr) <®po >

—

Q0

0.95

Ll
biey

2 3
TPlp?T (PCA tjbobeamliné'f)

1

2 3
TPlp?T (PCA tjbobeamliné'f)

1

1071

O
: =)
: £
: €
: ©
_ g
. [3V]
........................ R R EERE N STTPRRS =
: 3 —i=
<
: O
i o
— a
............ i .f..........“........“.........,......,........|............... pr
= =
R St S e
To—e—
e
e
............................. T T Ty FTTTTTY. STTTTEY ]
CETET. Yo X
“ m il
___________________‘I—___________1—___________________ ____‘_l_____ _0
TR - S N ™ e
D _.m e

(0n) < *di*d o >



	Contents
	Page 1


